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Question Number : 1 Question Id : 5500532401 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Bacteria that have specialized cell wall and plasma membrane structures to live and
withstand the extreme environmental conditions
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Time: 0

A student has identified certain fungi given below and classified under this number of
classes.

Mucor, Claviceps, Puccinia, Albugo, Neurospora
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Time: 0

Choose the correct answer from the given statements below

& 308 SHEMNE 00 DBADD VAT TEOED amﬁ’ A3
Options:

Cellular organization of the body is not required for metabolism
$66063°D Sea0DTDAD £ SODVL DGR T
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Non living organism also shows reproduction
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Reproduction is synonymous with the growth in Amoeba
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Response of environment on living organism 1s called Irritability
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The correct combinations among the following

[ Artificial gene synthesis

II  Pollen Science

[T Respiration

IV Phylogenetic classification
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Cell Biology
Polynology
Physiology

Taxonomy
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Time:0

Choose the correct statement related to the morphology of Cassia
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Options:
Valvate aestivation. Actinomorphic, corymb
SIS DB, %‘:oqbodwéo, 2DHID
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Imbricate aestivation, zygomorphic, corymb
| RODSE PABID, &S JrpBAS0, DID

Imbricate aestivation, zygomorphic, umbel
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Valvate aestivation. zygomorphic. umbel
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Choose the set of wrong combinations

A) Acacia  Phyllode Petiole

B) Nepenthes Insectivorous plant Nitrogen requirement
C) Hibiscus  Two leaves at each nodes Alternate

D)Neem  Number of leaflets attached at common point Pmnately compound
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Arrange the following events in the correct sequence during the process of
fertilization in Angiosperms

I  Fusion of other male gamete with polar nuclei

II Transfer of pollen grains from anther to stigma

I[II Fusion of male gamete with egg nucleus

IV Release of male gametes into cytoplasm synergid

V' Pollen tube formation
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Match the following

List I List II List III

A) Orthotropous I) Bean 1) Straight to funiculus
B) Compylotropous IT) Sunflower if) 180" to funiculus
C) Anatropous IIT) Polygonum iii) 90° to funiculus
2SO
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The following plant 1s characterized by trimerous flowers, superior and trilocular
ovary with axile placentation.
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Solanum nigrum

o Terdd drfadv

Yucca gloriosa
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Capsicum frutiscens
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Petunia alba
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Time: 0
The most abundant protein in the whole of the biosphere
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Collagen
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RuBisCO (Ribulose bisphosphate carboxylase — oxygenase)
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Time: 0
In the chromatin the charge of a DNA and associated proteins, number of types of

histones and copies are
A. Positive, Negative
B. Negative, Positive
C.4.2

D. 16.4
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Time: 0

Find the correct sub phase based on arrangement of chromosomes during M - phase

M- %" Eard'a) 0 eidsty ol 258 &3k SRR
Options:

Anaphase — Chromatin material in two poles
BOD % — Botd Prarw HG SIrOS Dudo

1 ®

Anaphase — Condensation of chromosomes

L SR &% — SArJ° 0 © oo

Metaphase — Chromosomes lie at the equator
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Metaphase — Chromatids attached at the kinetochore
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Time: 0

Number of base pairs i full turn of the helical stand and the distance between base
pairs in B-DNA
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Match the following

List1 List IT

I) Well developed large pith A) Endodermis
IT) Casparian strips B) Monocot stem
IIT) Scelerenchymatous bundle sheath C) Dicot stem
IV) Endarch protoxylem D) Monocot root
RSDETIDW.

Al | 2o 11
I) et ese‘_l)ssacg RDoAD bg cscbs A) esoé%')dg}o
II) ?i)géoﬁbﬁ Soomeen B) Q86D scoko

I1I) &y¢¢ Seaeradned oawsd) & EI D C) & D2 P00
IV) 9088 D& Trdod) D) Q8% D D
Options :

- I-B. II-A. III-D. IV-C

, v I-D, 1I-A, III-B, IV-C

3 % I-D, II-C. ITI-A, IV-B

, » 1-C I-A, III-D. IV-B

Question Number : 15 Question Id : 5500532415 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



These features are not characteristics of dicotyledonous root
A. Radial vascular bundles.

B. Pith little or absent.

C. Vascular bundles 15— 20

D. Cambium ring do not develop
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Time: 0
The hypodermis tissues in dicot and monocot stems respectively
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Collenchyma and Sclerenchyma.

émv%ﬁ £9 S£325°0 VO3 KK SERTL0.

Sclerenchyma and Collenchyma.
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Sclerenchyma in both.
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Collenchyma in both.
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Hydroponics was first demonstrated by
PGSy R0 20 AEFHeDDHE
Options:
Daniel E. Koshland
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Comelius Van Niel
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Julius Von Sachs
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T. W. Englemann
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Enzymes are denaturated by
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Time: 0

Choose incorrect statement related to diffusion
DDGEIZD D005 0R) DB SEEHTY o)mg_g’ A0
Options:

Transport by diffusion in plants is limited to short distance
20 0" DDGE TP 267 ST S D ErTrOD DEDSLOMD

Diffusion 1s limited to short distance
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Diffusion is not dependent on a living system
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Energy 1s spent for the diffusion of substances
DETO VL ¥ DI HotsecOR

Question Number : 20 Question Id : 5500532420 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Deficiency of the following causes Necrosis or death of leaf tissue

408 T8 §°00 BB DIgNTrLS’ DTVD T Enerery JE LA

Options:






, = N. S, Mo, Ca
, vCa Mg Cu K

4 % Mg. S. Mn. Zn
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Time: 0

“Transketolase” catalyses the following reaction

$08 IE[OD &Py SETE &B)5%0m D Fos0

Options :

G-3-P + DHAP and Fructose 6 P + G-3-P Reactions
G-3-P+ DHAP 08050 0§D 6P+ G-3-P sdjen

1.%

Fructose-6 P + G-3-P and Sedoheptulose — 7-P + G-3-P Reactions

05D -6 P+ G-3-P 8oty ETRDSE -7-P + G-3-P SOV
2. =

G-3-P + DHAP and Erythrose -4-P + DHAP Reactions

, » G-3-P + DHAP 50800 D8E% -4-P + DHAP 5650

Erythrose-4-P + DHAP and Sedoheptulose — 7-P + G-3-P Reactions
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Time: 0

Choose the correct combinations from the following

A. Induce sprouting of Potato tubers — Ethylene

B. Kill the dicot weeds - Cytokinin

C. Increase in stalk length of grapes — Gibberellins

D. Induce apical dominance — Auxins
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Assertion (A) : C4 plant loses only half of the water compared to C3 plant for the

same amount of CO, fixed.
Reason (R) : C, photosynthetic system is evolved for maximizing the availability
of CO, while miimizing water loss.
ydo (4) 1 &8 2ogo COy FDe, Cyang), C3awg) S0 W' tfo
Srgd §6'\doob.
s6m0 (R) © 28 ) $od, COy v Dockobis eivreore Cy Saeay
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Options :
Both A and R are correct. R is the correct explanation for A.
A 508050 R, Botir 28G3HD. R 920208 A & 283300 Jddes.

Both A and R are correct, but R is not the correct explanation for A.

A 08030 R, Gotir 280D 57 R 98008 A 20 2801 Dddes S°¢.

A 1s correct but R 1s incorrect.
A 283G 57 R D8I 5°¢0.

A 1s mcorrect but R 1s correct.
A 283G 3¢ 37 R 283D,
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The ascending order of molecules of the following compounds released during the
oxidation of two molecules of pyruvic acid

FADH,, CO,, NADH,
B0t PEDE ) RV e.a%édea BB AuAl| & d0d airisw
385 S0

FADH,, C0,, NADH;
Options:
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Time: 0
The colour of chlorophyll ‘b’ in the chromatogram.
85565 e 57 D 080 D GR0E), S,
Options:

Yellow orange
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Bright or blue green
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Yellow green
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The anatomical characteristic features of hydrophytes are
OB 20E) © 9088 T°) £ VLT
Options :

Well developed mechanical tissues.
T DDA WL QITP0DS SEaF U,

Thick epiderms
Poblela w‘éﬁg%‘)d&o

H}’pOSTOID&tOUS leaves.

085: DBGoGroiNG DTRW.

Epistomatous leaves.
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Time: 0

Assertion (A): There is rising cost for pollinator dependent fruits and vegetables.

Reason (R): Many pollmators are disrupted as they exist in isolation.

A2ydo (4) : DT D06, SE0 ¢S BEFEHAD Dot 2Bk LPEralLY

ENoIAY Dy, D008,

526620 (R) : D07 2020), S50 JATT £l SR BTBETHR)
Options :

Both A and R are correct and R is the correct explanation of A.

A 508050 R &0 Bodr 2859, 28050 R 0006 A 085 6.
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Both A and R are correct but R 1s not the correct explanation of A.

A 08030 R @0 Gokor 283, 5°Q R 098008 AL 288 Jd6es 5°¢.

A 1s correct but R is incorrect.

A 2336 50 R &)y,

A 1s mcorrect but R i1s correct.

A &2y 52 R 23386
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The correct match among the following

Bacteria Disease
I Clostridium Botulism
II Diplococcus Pneumonia
11 Treponema Gonorrhoea
IV Neisseria Tetanus
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Structure of bacteriophages is complicated because they show

I.  Polyhedral symmetry
II.  Helical symmetry
III.  Bilateral symmetry
IV. Radial Symmetry

wééw&&‘i Q0 2083 AT, £ $DH 0O S°6ER0
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The number of phenotypes and their genotypic ratio found when heterozygous round
and yellow seeded pea plant crossed with other pea plant showing seeds with
wrinkled and heterozygous yellow

Dok} Aogo HBAH) DR DIT (0 w8 LT AE) A, Swkaden
06050 Do) R0 DT (0 T 2B V086e0 SRR
6\E y3Ers Dopf B 2dVjErDS IS
Options:
Eight and 3:1:3:1
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Eightand 1:2:1:1:2:1
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Six and 1:2:1:2
S % 2880 dad 1:2:1:2

fourand 1:1:1:1
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The ratio of homozygous tall and dwarf plant in F, generation in monohybrid cross is
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Assertion (A): Cistron 15 a segment of DNA coding for a polypeptide.

Reason (R): Monocistronic structural genes are not splitted in Eukaryotes.

Ao (A): 8 DRE 203erAidy DNA ergird) DS wotrd.
620 (R) : ArSHFAS Joy e aofden Jadods dpod wodTabod

4ré Godad.
Options:
Both A and R are correct and R is correct explanation of A.

_ A 08050 R &0 Gockr 599, 2080k R 98086 AS $88 Db,
1.

Both A and R are correct but R is not correct explanation of A.

., A 0000 R a0 Gotlr 230, 5°R R 9008 A 008 8 S°E.
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A 1s mcorrect but R 1s correct.
A 29y 5°9 R 236,
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This statement is incorrect related to genetic code.

308 o5 & (] 2] VOSB0HL V020G DEFHE .
Options :
The codon 1is triplet.

o §d 8 “oddso.

Some amino acids are coded by more than one codon.
L 59 S 9dre 288 ot D), DOSTOT AP OLRETPOW.
2.9
One codon codes one amino acid.

L, 28 8D w8 00 63505080 DS,

The code 1s nearly universal.

, 28] 20380 FEBSRI6.
4,

Question Number : 34 Question Id : 5500532434 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time: 0

Probes are

A. Gene specific short sequence

B. Single stranded DNA/RNA short fragment
C. Radioactive double stranded DNA

D. Used in colony hybridization

DS e DD

AL 2805 DIRDOD T DA Fdrrew

B. 98 % DNA/RNA 0o CR0E), T Sodod)
C. B&aarer8), 58 $88D Toch J'esw DNA

D. 5200 PDEIFAD S oroTedd
Options :
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Choose the correct pair for artificially restructured E.coli. cloning vector

[. pBR322 - Boliver and Rodrigues — Natural Vector
II. Selectable marker — Antibiotics — ampR. tet’

IIL. Restriction sites — Hind I1I, Pst I - Link alien DNA
IV. 1oP — Proteins — supports high copy number

43200 )%8) 800506 &) §E7§Noh TimE0d%) §06 T8 Bo0d) DO 28
Q0 Qéoig AN

L pBR322 - £rd06 08t BEE — dira Tipgo
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IV. 1‘0-P - TS ew- D8y e VoS Bires Dbty

Options :

% LIV
, o ILII
L« LIV

o % ILIV

Question Number : 36 Question Id : 5500532436 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Study the below table and answer A, B. C

Rice varieties in India A

Varieties of Basmati rice grown in India

Year of U.S Patent on Basmati rice G

& S08 DS 96030800 B0 A, B. C & 2o & QDA

2P8h B%0e5°D H6 rven A

2Eeh B%0e5’ DotAD) )3 BHTEE sen | B

P8 96 8%0  U.S D&0t5 Jodd dodSyo | €

Options :

% A:20216 B:29  C: 1986
, v A1200000  B:27  C:1997
, » A2 10000 B:34  C:1958

. % A: 15996 B: 25 C: 1998
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Time: 0

Among the following, the wrong statement related to Bt cotton.

Bt 5700 $ 2020800 08 T°83¢5° D2 52 o525



Options :




Bt toxin protein exists as inactive protoxins

Bt &3S J'8S Dyp,08re) 8 TS m 0o
1.% —

The activated toxin binds to the surface of mid gut epithelial cells of insect

. $03r30 &r3yD Sogo W (55 &' G1BRE S WSLE) otwod
2. ‘

Protoxins are converted to form active toxin due to acidic pH

|, & oo o pH S0 Jer3\S SorIV eSS T AT
3. o

Bt toxins are insect group specific

Bt &3S en 20 DAL DINS T &0t
4. %

Question Number : 38 Question Id : 5500532438 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Conversion of milk into curd by lactic acid bacteria increases
er38 QIrRE erg8alr TrTe UL DO BPENHDNE DAWNE

Options:
Vitamin B12
v e BI2

Vitamin D

. Du28D






Vitamin C
DS C

Vitamin E
4% DD E

Question Number : 39 Question Id : 5500532439 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Match the following

List I List IT

I. Organogenesis A. Genetically identical
IT. Somatic Embryo B. Bamboo cultivation
III. Micro propagation  C. Production of shoots and roots
IV. Somaclones D. Structures from callus
& DA

ArAb | e 11
L. 00508 5800 A. 2R0{DG0TT V0T 08I0

II. 7303 Doreeren B. 2408 e

IIL. Arg) o C. sP0r) 08050 DL &S \S Bokod
IV. ParES e D. 503 &0 Ao e
Options:

, «ID IIC IIIB IVA






;= 1B IIA IID IVC

,»1C IB IA IVD

Question Number : 40 Question Id : 5500532440 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Assertion (A): Methanogens are present in the rumen of cattle.

Reason (R): They help in breakdown of cellulose and nutrition of cattle.

Ao (A): esSao DI E68%08" Gotom
s0m0 (R): 2 euf8'd DErdo DY) S dubahoy Jwd” edairixo.

Options :
Both A and R are correct and R 1s correct explanation of A.
A 208050 R a0 Bocr 283D, 0805 R 0036 AL 285 Ddse.

1 ®

Both A and R are correct but R is not correct explanation of A.

|, A 2800 R & Gotkr 938, 5O R eid A% 255 6w S,

A 1s correct but R is incorrect.

A 2838 =A R é@g

3. %

A 1s incorrect but R 1s correct.

) A é@b 5° R 238308.
4,
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Question Number : 41 Question Id : 5500532441 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Rats belong to the class
QNS & DTTTVS BoAD 2dH)en
Options:

Rodentia
8&{{3033

1. %

Cetacea

E30035°

2

Mammalia

% Eleia 3V



Carnivora

S°6QSC$

Question Number : 42 Question Id : 5500532442 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Choose the incorrect pair among the following

A. Biosphere reserve — Indo Burma region

B. Aravalli Hills — Rajasthan and Gujarat.

C. Koringa sanctuary - Uttarakhand.

D. Biodiversity hotspot — Himalayan region.

808 78" D857 2 HYoAW.

A 2D FUIY) 2068 Sogo — Ro&s 230°), Jrodho.
B. 50759 DO(TO0- TR, (HRTS.

C. &8orr TS Beaf0 - EIT0E.

D. e)CIrEHO\E 55 8 - rdrecd Jrodo

Options:

, = B.C
2\4? .‘A. C‘
3 % A.D

4_$¢B.D



Question Number : 43 Question Id : 5500532443 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Assertion (A) : Kidneys of vertebrates are called retroperitoneal organs.

Reason (R) : They are covered by parietal peritoneum only on their ventral side.

Ao (A) : VSOV BrGdorruRd BESRD wdaHIT Yotrd.

60 (R) : Largdorren 646 erfiod argd Girddido & ovwd
GO0,

Options :

Both A and R are correct and R is the correct explanation of A.
A 508030 R e Gottr 280, Su8ain R 98008 AL 230 Jddes.

Both A and R are correct but R is not the correct explanation of A.
A 506030 R a0 Go&ko® D830, 5°Q R 098008 AL D3R Jaddes 5°¢0.

A 1s correct but R 1s incorrect.

A DBHE 5°0 R é@Q

A 1s incorrect but R 1s correct.
A é:q)b 5° R 2838.

Question Number : 44 Question Id : 5500532444 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Assertion (A) : Mast cells secrete serotonin.
Reason (R) : Vasodilators cause inflammation in response to infection.

Do (A) 1 &R SETen DEEAD & DI 0w
so8mo (R): 8$od Z)&bvw 205:500% edgod 7y $dAFow.

Options:

Both A and R are correct and R 1s the correct explanation of A.
A 58050 R e Boctor 2859, 08k R e0d0d AL 288 Ddde.

Both A and R are correct but R is not the correct explanation of A.
A 508030 R a0 Godo 280, 5°Q R 98008 AL 288 Dd8es 5°¢%.

A 1s correct but R is incorrect.
A D3O A R ét’.g_)b.

A 1s incorrect but R is correct.
A é@b 5°0 R 2338.

Question Number : 45 Question Id : 5500532445 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Hyaline cartilage occurs in

A. Sternal part of the ribs

B. Pubic Symphysis.

C. Epiphyseal plate.

D. Vocal chords.

E. Epiglottis

F. Endoskeleton of cyclostomes

SR AREN b)acs.)vf(b) D EOADD.

A, D880 &8 armren

Ve

. 2230 VOTTRDN.

C. dadN0%S DUSLD.

F. 2§ Ya00e’ e9080°0026:50.

Question Number : 46 Question Id : 5500532446 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction






Choose the incorrect statements regarding Hirudinea.

A. Male reproductive system has cirrus.

B. They are exclusively marine and tubicolous.

C. Fertilization 1s external and development is direct.

D. Clitellum is conspicuous during breeding season only.

AL 20830800 DO TR Hocsod.

AL 2R DABS :35;5:366 DD &S0,

B. 2 203rgor DAVEED DEIS* Trwrers® eotraw.

C. erary DOAESD, D[S VDHA BELDTTOW.

D. 20z IS8 0088 Jrdd $E0 DO G0,

Options :

| % A&
5 % B.D
3 % . )

.vB.C

Question Number : 47 Question Id : 5500532447 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The spermathecae in earthworm are present in
TR H0S” BOGITarEen G0l oA TN

Options:






tl th

8" and 9 segments
th oth

87, 9" odTren

3" and 4™ segments

. 3 4% a0l @ren

6™, 7% 8% and 9® segments

6th . 7th . Sth ’9th &DO&«U"Q)

15™ to last segment

15 2008 QD6 wodeho DB

Question Number : 48 Question Id : 5500532448 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Choose the correct combination among the following

A. Bivalvia Radula Rasping organ

B. Scaphopoda Captacula Capture of food

C. Pelecypoda Crystalline style Digestion of starch
D. Cephalopoda Osphradium Water purity testing

408 TS DO 2 Sohedd TBY HBocAw

) Dertisin dab
A. gdasr T Q8 ©H0DH0
B. 3"'6565"&? S°§°535U° BT DL
C. 20 088 doco DOGOTTO &¢I
D. 298" e S Aoho B (880 0BG otsory
Options :
| ® A.D
5 ® B.D
3 % A.C
4 ¢ B.C

Question Number : 49 Question Id : 5500532449 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The gene that is believed to play a key role in human language expression is
ArINE ey bs_%édes D000’ S0 F Jaod 2R
Options:

; = P33
5 & FOX P2
;% TP53

, » BRCAI

Question Number : 50 Question Id : 5500532450 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Assertion (A): Pneumaticity of bones 1s the unique feature of reptiles.

Reason (R): Air sacs associated with lungs of birds facilitate continuous
oxygenation of blood.

d3ydo (A) : avao»ggaso $9A Podicio BRDG HEVIL DI v

5660 (R) : SPaiuBenes edomrdo B00wEEo dvd DLV
€22888000 DB0IB0 A3 B wd WodTFow.
Options:

Both A and R are correct and R 1s the correct explanation of A.

L A 06010 R e Gocr 182, 28050 R e0:038 A 058 Ddden.
1.






Both A and R are correct but R is not the correct explanation of A.
A 08030 R @0 Goclor D88, 5°Q R 098008 AL 28 Daddes 5°¢.

A is correct but R 1s incorrect.

, A 2338 52 R 2332)3

A is incorrect but R is correct.

, v A Sy SO R 2338,

Question Number : 51 Question Id : 5500532451 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Identify the structure found in the early embryonic stages of amniotes that provides

a clue to their aquatic ancestry.

& SoBT S’ rOS0v 208 DB AgeBosd docked FES 5% Joeren

Options:

Endostyle
- 9058 $deho

Nuclei Pulposi

N '5366323 Sogdsren
2.

Nonfunctional Pharyngeal pouches

v Sasrdirs (50 Sween






Air Bladder
T°0308 %o

Question Number : 52 Question Id : 5500532452 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

In microtubules, the peripheral doublets are interconnected by linkers called
Qrg) T9g08” DOBH oo Arg) TR VLT BV oSt
Options :

Nexins

v 5%35 (D8]

Tubulins
02000

Dyneins
G0

Actin
223
e

Question Number : 53 Question Id : 5500532453 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Identity the correct statement in relation to Paramecium
T 03055 DoerodoD) & S0 28,2 0950956 28I
Options:

Macronucleus 1s diploid and micronucleus is polyploid.
AroSodso ¢(a% VA0 B ArE) Sogoso LTINS So.

Macronucleus 1s polyploid and micronucleus is diploid.
AroSogo WSS Bk D) Sogoso BLORSSo.

Both macro and micro nuclei are diploid.

Are S0k BrE), Sogseen Bodsr cb‘so:b?gé?w

Both macro and micro nuclei are polyploid.

Aore S80I W) SoES D GOt LXTVNAS A

Question Number : 54 Question Id : 5500532454 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Mild tertian malaria is caused by

206G BADS LSBT e &
Options:

Plasmodium vivax

e T3 Eabo S5y



Plasmodium ovale

. Qvﬂzdai)o 2ses
2.

Plasmodium falciparum

PG 2ao PO\
3 x B EAN0 TG0

Plasmodium malaria

, FJgdabo &oab
4.

Question Number : 55 Question Id : 5500532455 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
Assertion (A): Life cycle of ectoparasites is more complex with many

developmental stages.
Reason (R): Developmental stages of endoparasites have better chances to reach

definitive host.
Ao (A) : ey TR S EAS g0 WIS BAK (¥ drd

R0S0MT $Hoenod.

[ard

5600 (R) : 0086 TR 2o &' DG DB 5300 G ©SBaD
ROTEAS B9STFeN Dé%b.
Options:

Both A and R are correct and R 1s the correct explanation of A.
_ A 20805 R e Gockr 0509, 20808 R 03006 A% 233 Dd6e.



Both A and R are correct but R 1s not the correct explanation of A.
A 508050 R a0 Gottr 28D, 5°Q R 09808 AL D88 Dddes 5°¢0.

A is correct but R is incorrect.
A 2858 529 R 8.

A 1s incorrect but R 1s correct.
A 83y 5°9 R 2838

Question Number : 56 Question Id : 5500532456 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Among the following nocturnal periodicity is exhibited by

&1 308 T°IS" ITT O DG DEB,0BE

Options:

Sausage shaped larva
FDE 35755 GoBSo

1 ®

Microfilaria

208 DS BasT
2.V

Qokanite

;% EEEISTN)






Rhabditiform larva
wegéf)&éé GoZdso

Question Number : 57 Question Id : 5500532457 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
Assertion (A): Mary Mallon was nicknamed as ‘“Typhoid Mary’.
Reason (R): Mary Mallon spread typhoid for several years through the food she

prepared.

D380 (A) : 06 R D 'Barond D' ©d Taredto 9)od.

57660 (R) 1 08 0gr 3o Sairthido 8o (o §Q) DodS o
Broné & T B08.

Options :

Both A and R are correct and R is the correct explanation of A.
, A 8080 R e Goclr 0D, 08050 R 900G AL 23 DdHdes.

Both A and R are correct but R 1s not the correct explanation of A.

LA 08030 R 20 Goko® D80, 570 R e90d& AL 28 Jaddes 5°¢0.
2.

A 1s correct but R is mcorrect.
A 2838 5=A R e‘éQ)D.

A 1s incorrect but R 1s correct.
A 2‘3@3 5°0 R VOVE.



Question Number : 58 Question Id : 5500532458 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Prochordate that exhibits bioluminescence
250082 D80S PSS 5B
Options:

Chaetopterus
ELVRT R
’ e

1.%

Pyrosoma

, o PO

Firefly

. LD DB
3.

Jelly Fish

) 29 30

Question Number : 59 Question Id : 5500532459 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The mtegral form of the exponential growth equation is
D8y TIJODHES 5,8 DAEEE) QoS B0

Options:



—=(b—-d)N
i L
K-N
aN _ )
, dt K
dN
— =11
5 dt
N,=N_e"
4.¥ °

Question Number : 60 Question Id : 5500532460 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Identify the correct option

Statement —I (S-I); Haemoglobin binds with oxygen in oxygen rich areas and
leave CO,

Statement — II (S-II): Haemoglobin 1s an amphoteric compound

RBAD DIy Dok

-1 (S TFArBDD i wdy2d DA% Fomres ey2d &
doror) CO; &0 HEH DRwod.

g ~ I (S-ID) TArHDD BEES DoaIr Do,

Options :

S-I and S-II are imcorrect.

S-I 20805 S-II Bodkr LTI 5.






S-I is correct and S-II is incorrect.

. S-I 2BDE 08030 S-II B 7.
2.

S-I is incorrect and S-II is correct.

, S-I DBRXE 570 8ad S-II D3JHA.

S-I and S-II are correct.

_ S-T 208050 S-II otk 2B3.
4.%

Question Number : 61 Question Id : 5500532461 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



Find out the correct match
Set—1

A. Carbohydrates

B. Proteins

C. Fats

D. Nucleic acids

Set —1II
1. Nucleosides. Phosphates
ii. Glucose. Fructose. Galactose
i1. Amino acids
iv. Fatty acids, glycerols

208 78" DBADD S $GocHD

Set—1I
A sByargen

Set — 11

i, ArSaBrRED, TN
B. S{feséb ii. ArSE, DS, fersd
C. Epgen iil. S esdrren
D. Sogsedren Iv. QN esren, Aroed
Options :

L% A-i B-iii. C—iv, D—ii
A—1, B-i1ii, C—1, D—1v
, v A—ii, B—iii, C—iv. D—i
, » A—ii. B—iv. C—iii, D-i
Question Number : 62 Question Id : 5500532462 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Sino-Atrial Node (SAN) is situated m
DT°SBS® Se) &ocd Jroddo.
Options:

Upper right corner of the right atrium.

DG 808 DA D T
1.¥ ®

Lower left corner of the right atrium.

DA %08 V&R SodoTr
2. % ? -

Upper left corner of the left atrium.

. W [ade b sgs DD D 2T
3.

Lower right corner of the left atrium.

Do 588 & PR Sodorr
4, %

Question Number : 63 Question Id : 5500532463 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Match the column I with Column II.

Column -1 Column -1
A. Coronary artery disease i. The blood pressure above 140/90.
B. Hypertension i. Accumulation of calcium, fat. cholesterol in
coronary arteries.
C. Angina pectoris iit. Heart unable to pump sufficient blood
D. Heart failure iv. Chest pain caused by Ischemia

o8 Tdv 08 11 & addedw.

A S8R0 6D (B 1 65 o 140190 Soif Ay ».

B.odg 63T il s°abo, §, ETH0S 4898 ¢S DAEITdko.
C.o08ar 0560 il. Aod Shv Arerdod’ dgo Dod Bobdsddo.

D.irydah pooe V. @3y0ird 20zl o Sy
Options:
o A—1iB—iii, C—ii, D -iv
1.
o A-iiB-iC-iv.D—ii

3 % A-11,B-1C—-ii1,D—-1iv

4% A—1v,B—1i,C—-1,D—iii

Question Number : 64 Question Id : 5500532464 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction






One of the following is not a part of light band of myofibril
308 8BS’ S0k6 Arg) BoBuNS'D ToSB0dRY VL &' B0 TAG
Options :

Actin

038

1.

Myosin

v SO
2.9

Troponin

SRR

. N
3. %

Tropomyosin

) SR TSI
4.

Question Number : 65 Question Id : 5500532465 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Arrange in sequence the following events related to mechanism of hearing

A. Hair cells bend and press against Tectorial membrane.
B. The induction of ripple in basilar membrane.

C. Eardrum vibrates in response to sound waves.

D. Impulses transmitted to brain.

E. Transmission of vibrations through ear osscicles.

DISE: HIADL V080D & 06 VOWLHVI VFD $AWS" BE\0E.
A, Bdogrren 2,80 B80S S(o o w3E $DReD.

B.&ner6 égé:mef Q%) v i)dbcioeo.

(. FSBOTRL) @RMET sgéé &(eho Soa0t0L.

D. ¢ D65 cTren MGED Bew.

E. 0200070 tr(0° 980070 @S0,

Options :

v C.E.B.AD
,x B.A,D,E.C

. D.C.B.E.A
3.

., » C.B.E.D.A

Question Number : 66 Question Id : 5500532466 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



One of the following is not a second messenger in hormone action

0t QBWED TS’ BBAH TTIrSin I
Options:

| = CAMP

Calcium

, S";O)o:bo

, % I,

Sodium
4,V A& oo

Question Number : 67 Question Id : 5500532467 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Identify the correct match of the gland with its respective hormone and its function

S06) LG TS o8 T Doodd :3*3615 L8080 s ROAY S

toBotdoc

Options:

Carpus luteum - Estrogen - Support pregnancy.

S°6\D oD — éega‘afo - (ﬁcre)fl)é i E8ocio.

1. %



Thyroid - Thyroxin - Regulates blood calcium levels.

, Boowé - BoeSS - 8g0e5” 5°doho fg°cm§:') gD B0,
2.



Anterior pituitary — Oxytocin — Contraction of uterus muscles during child birth.

POQ DAHT (08 - @35S — 380 ado dinabed (oo Sotire

3 % 208 do0.

Posterior pituitary — Vasopressin - Stimulates reabsorption of water from Distal

Convoluted Tubule.
26 057 (106 - TIPS - AP6RD V059 TYS' I cog), D

» T DB

Question Number : 68 Question Id : 5500532468 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Find out the primary lymphoid organ from the following

S0t RBWAED TS B00d Fedg Dodrans dAHIR) K8otsod.
Options :
Spleen
1. S
Lymph nodes
) % F 8D Ee0)en

Thymus gland

v R (Jo&
3.



Tonsils

o n Y

Question Number : 69 Question Id : 5500532469 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Choose among the following that are cellular barriers of immunity

a) Saliva

b) Neutrophils

¢) Cytokines

d) Macrophages

e) Lysozyme

f) Monocytes

208 77855 BT RESLD BB a6 ITErod Hdosod.
a) ererR0

b) m§§3pe5 3%

¢) 255 e

d) rgsooe;sgs Sere

e) SJ'Z

f) ArSE e
Options:
| % a b; ¢

R b.d. f






4.$ b, C.f

Question Number : 70 Question Id : 5500532470 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Identify the correct option

Statement-I (S-I): Test tube baby undergoes development within the test tube.

Statement — IT (S-IT): In IVE-ET method fertilization occurs inside the body.

RBAHA 5 HBocdin

il (S-D) : 8 eriEd 380k D¢ & 30) aB0g), DANDER BY (e
& 263008,

-1 (S-ID) : IVE - ET 26588 08860 3660 &0 a6dibded.

Options:

S-I and S-II are correct.

| ST 208080 S-TI Gockr 259D,

S-11s correct and S-IT is incorrect.

| ST2336 B08a3w S-11 2586 6.

S-I 1s incorrect and S-II 1s correct.

L S-T20338 s 08050 S-II 2BHA.
3.

4.v



S-I and S-II are incorrect.

S-I 208050 S-II ok HBHD 5°D).

Question Number : 71 Question Id : 5500532471 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The notochordal mesoderm induces the overlying ectodermal cells that are
involved in the formation of

()

D008 SR Sren TP 6) RIFRSEORD H00) 206655
Z)m&eaafw
Options :

Neural groove

s & ™A

Neural plate

y T°A DOEA0
2.9

Neural tube

. & Yo

Neural gland
. TG (508

Question Number : 72 Question Id : 5500532472 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time: 0

The double layered fold of peritoneum that connects the ovary with the wall of
abdominal cavity 1s

FDRET) 666 L6 LEmA3 wolodd BLROS sogdide
Options:
Mesorchium

i} 500&660530

1.

Mesosalpinx

. Fotuite @Doéb

2.

Arachnoid membrane
. 53 8¢

Mesovarium

4V VD80

Question Number : 73 Question Id : 5500532473 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The universal donor blood group is

& 308 TOS” DTS 6 DAWTODBW
Options:

1.% o}






, % AB’

AB-

4, %

Question Number : 74 Question Id : 5500532474 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

In hymenopteran insects the unfertilized eggs develop into
TR BodD SwsmE’ DAL Bod worrwn & 08 deorr

Pobilolailobt)
Options :
Queen bee

| . T°E3 &S

Worker bee
) 508 e

Super females
, 08 D Bew

Drones
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Scientist associated with DNA sequencing is
DNA $560085008 2023060 $DAD T70DS
Options:

T.H. Morgan
TH.aro

Karl Landsteiner

5°6 erol QD6

Mary Lyon
200 LoD

Frederick Sanger
DEBS Jrosd
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Duchenne muscular dystrophy is an example of

OB Sl 2e0eh & $08 IS TS
Options:

X- linked domimant inheritance
X- Doy aoirgel’s oD D0R S






X- linked recessive inheritance

X- iob“e)ﬁ‘l 29088 9 D0ISSH
2.¥ ”

Autosomal recessive inheritance

|, Barg Ear@ B0 0od6s b3S
3.

Y- linked dominant inheritance

. Y- Doy wi:vge.“s 98050 25H
4, :
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The connecting link between reptiles and mammals is
BP0 HBAED LETFVLH B DT DB
Options:

Eusthenopteron

O T°DT°D
C.) (%]

Seymouria
JaPebbilolovt)

Archaeopteryx
€58) G322 85






Cynognathus
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Among the following the incorrect pair is

208 T°ES” DTS 28 52
Options :

Theory of catastrophism — George Cuvier
DFCDSBS( Dgroto ~ 29 DA

Theory of Biogenesis — Louis Pasteur

LIAIT B DD DEroto — o &%()6

Cosmozoic Theory — Aristotle

?@éwwé Ddgrodo — @6@;&6

Theory of origin of life — A.I. Oparin
&35 DBEwadd dgrodo - AL wIr8d
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Introduction of Genetically modified DNA into eukaryotic cell 1s called
20§81 ¢ Sodd DNA & duogs St €'S D80G LS
Options:

Transduction
QJ"S\ EED

1.%

Electroporation

RS RS
2. =

Polyplexes

Transtfection

v Q”‘S\ DEQ
4.5 =
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In Multiple Ovulation and Embryo Transfer method, the stage at which the

embryos are transferred to surrogate mother.

QITVY wo&féﬁo, 20¢ 2680 FodALSS’ & 308 B3 &) D0EOR
08O (o) $a0d's ArcOFe.

Options:

8-32 celled
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Time: 0

The most accurate measurement among the following is

$08 TOS” WS[od DANBD S
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20107 m

, v 200x10™'m
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The driver of a train moving with speed V', observes a train moving at distance ‘d’
ahead on the same track slowly in the same direction with a speed “V,", The driver
applies breaks to give his train a constant retardation ‘a’. If there was no collision
between the trains, then

Vi 88 & poireingd) Geo 6D G0y, 6d ardo ‘d’ dred’ ed 63" 34y
SAVy & HosredRoR) Gendy ABDoTEd. 6> &% Jevsh ‘@’ 2 $(6to

oloistmR3 B HErA0ERED. Bot §¢) docs) wdirdo adis I,

Options:
e )
d< VitV
| ® 2a
(i)
~ 2a



dz= Wa-Va)
3.¥ a 2a
LA
B 2a
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A point ‘P’ on the wheel of radmus ‘R is initially in contact with the ground. When

the wheel rolls forward half a revolution, the displacement of the point P is

R TR o) 28 5o 6 &) w8 Do) P’ B T B, B0

98238080 S0t E8B, &8 Dockdiy) P Tod Fdgoto

Options:
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An electron moving along positive x-direction with velocity 2+10° ms™, enters a
magnetic field of B= (1* 41 +3k ) T. The magnitude of the force acting on the
electron 1s

w8 VTR G X - wgo B3 2 10° ms” B8 B= (1 +4] +ak) T oo 08
£0d” Hasrmvotl, 8 VTS P 2 B ww DBAre0

Options:

NPPL
. L6<10°N

, v 1.6x107°N
, » L.6x107N

4 ¥ 1.6x107°N
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The time taken by a net force of 10 N to change the velocity by 4 ms™ of a body of
mass 10 kg 1s

w8 98 w0 10N S w8 10 kg 857073 o S0 RN Sy 4 ms”
$dBocher D SN SPebb)

Options:

]¢4S
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Time: 0

A car 1s moving with a speed of 5 ms™ on a circular road having radius of curvature
10 m and coefficient of friction 0.5. For the safe journey of the car, the banking angle
of the road should be

(Acceleration due to gravity = 10 ms™)

5T mséﬁgo 10m obodn des beaso 0.5 o ws HZ'sd rdo Do Sms”
S48 E200T 28 56 HOIPEIOHLL, arjoSofs &eason

(thdod &(deso =10 ms™)

Options:

tan "
1.¥

1 | =

-1
2
, % tan 2

4
fan  —
4

tan~' 4
4, %
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The work done in lifting a body of mass 2 kg from the surface of the earth to a height

10 m1s

AradBdve Aoc 2 kg G103 o 28 S0 10 m g0 S Jevehd
BODHVID DA
Options:

| % 987
, w1961

3 % 14717

2
(v.8]
(o0
—
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A Dblock of mass 1 kg is attached to a horizontal spring and rests on a horizontal
surface with co-efficient of friction 0.4 as shown in the figure. If the body is
displaced by 1 cm by the tension in the spring, then the work done by the frictional
force 1s

> ; )
(Acceleration due to gravity = 10 ms™)

008" oot 1 kg ()03 o B0) w8 £ Hdrods Dok & shed
0.4 2088 brago o £82 ArodE dwop &) B, DYoh SR SRS S0 &

Bav) 1 em gﬂé@oéo B08 8 000 B B

(tdoesq SBeso = 10 1113'3)

W

Options :

v 0.0417

5 % 1.147]

20017

3. %
4% 0.027
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A girl of mass 30 kg stands at one end of the plank of mass 120 kg and length 4 m.
Initially the plank lies at rest on a horizontal frictionless surface. If the girl walks to
the other end of the plank, the distance that the girl moves relative to the ground is

120 kg Gd(0°3 ndato 4 m T o s 2 a8 D56 30 kg Q[0°3 o w8
erd3 doed 608, Fdozod 8 s 200 G £8% VATods Swop I
208 S0, 87D 0y DBED Htochotr 9D, Suh Fogorr erds HEDD

drdo
Options:

% 0.8 m

, 1.6 m

3 ¥ 3.2m

S,
, % 2m
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The translational kinetic energy of a circular disc of mass 1.5 kg rolling on a

horizontal surface without slipping is 24 J. The total kinetic energy of the disc is

w8 £8% DAFoBE B0 P 6t iRy 1.5 kg 8073 o w8 STrss A

oS0 (19 33 241, D¢y cog) Awdo 18 33
Options:

% 247
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Time: 0

A simple pendulum is suspended in a car moving on a circular track of radius R with
a uniform speed of 4/1.732gR . The pendulum 1s making small oscillations in a

radial direction about its equilibrium position with a time period T.If the car is at
rest. the time period of the pendulum is

2 v v.
R &0 flo 8 Sygs8 drdod |1732gR o & 5By a8 7608
28 0w & Us) Serd BT, Sodo 5"53"% &%’ DTS .g%o DB B
Eomo 8560 00 T. 526 I8y0 3G €0, Fugo g wdgd o

Options:

1.*T
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Question Number : 92 Question Id : 5500532492 Display Question Number : Yes Is Question
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Time: 0

The equation of a particle executing simple harmonic motion 1S
x=asm ot+b cos ot . The maximum velocity of the particle is

DY ﬁmé&é Hodo 603»@&1 28 490 H&6e0 X =a sin Ot +b cos ot . &0
0333% rﬁéég 200
Options :

0 (a T b)

o4+ F)

2,
, o(ya® +b*)
3.°

®(a+b)

4. % 2
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A satellite of mass 500 kg is in an orbit around the earth at a distance 0f6.67x10°m
from the center of the earth. The speed of the satellite is

(G=6.67x10™" Nm’kg™ . mass of earth = 6x10™'kg)

500 kg @503 o) 8 &(irE0, Hro Sogo dvodt 6.67x10°m &0t
4578 PDoct ) B, &8 EEP oY, i

(G= 6.67x10™" Nm'kg?, &0 g, ¢T3 = 6x10™kg)

Options:

. 17.75kms™

27.27kms™?

7.75kms™

30.25kms™
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Time: 0
The bulk modulus (B) and compressibility (k) are related by
03B (0650 (B) 08080 2od¢(S (K) &6 D080
Options :

E= 1=
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A fluid flows through a pipe of diameter 5 cm with a velocity 2ms™. If the pipe is
constricted to a diameter of 3 cm, the velocity of fluid at the constriction is

5 em (R0 (R 28 180 & w8 ¢do 2ms™ Drtdwd D9TRVD) &. &8 e
CBE), TR0 2,8 B 3 cm £ S, v ¢ B0 dWE) SHfw

Options:

| % 455 ms”

1

S % 355 ms
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According to Newton's law of cooling, the temperature of a body is “T" at time ‘t’

and temperature of the surroundings is T, The rate of change of temperature

dT A . . .
e k(T -T) Ifthe initial temperature at time t = 0 is Ty then the temperature T is

Ar(0)S 38D Aabindw V560, w8 00 &S t 500 34 T. DOV

[ .
et Ts wand, e & drdy G (? =k(T,-T) . swot=0 38 s

S0 &9 &Q“Qé Tp 000 T Dewsd.
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Two identical balls ‘P” and ‘Q’ are moving with the same velocity. If the velocity of
‘Q’ 1s reduced to zero and that of ‘P s reduced to half, the ratio of change m
temperatures of ‘P to ‘Q’ 1

Bty 6 R wodoed ‘P dnbaty Q' 28 Do patredgorry 0. Q' ding)
Stfo 0y $ égﬁsm 'P aog), Drfo APAS SAB, ‘P’ 2oty ‘Q’ wodow

ERI IS Sty A

Options:
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A solid cylinder of length ‘L’ and diameter ‘d’, made of a material of specific heat
capacity ‘s’ is rotating about its axis with ‘n’ rotations per second. When stopped,

50% of its energy is used in rising its temperature. The change in its temperature is
‘g Z)Qg‘sg &wgéo Ko Firod Sabeg, ‘4o wbatn T Ty ) w8 0
AP0 &% 50 DEOTF AW ‘1’ Parren 53008, & AP0 esﬁﬁ“o»é:g)\d), g

339" 50% e:;i‘ge:a:) 2083 EDAPHDES, T ezgﬁgwwmb
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The external work done when air expands from 10 litres to 15 litres at a pressure of 2
atm is

(Take 1 atm = 10 N111'2)
2 atm 60 36§ 9 10 Deog K00d 15 Beag 56 DBodii . ey 0 Dewsd

(1 atm = 10° N e &8 20i)
Options:
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L v 1000 J
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If the temperature of a gas is increased from 27 °C to 927 °C, the rms speed 1s
28 a0 A egegé 27°C %008 927°C & 28/, rms H&
Options :
gets halved

50 98006

gets doubled

S0 0320 €900

becomes 4 times

4 GO 9 )BV0H
3.7

does not change

433&)"663)
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.

The superposition takes place between two waves of frequency
‘a’. The resultant intensity is directly proportional to

f" and amplitude

3"(6.;;3:350 () 498050 %00 DM (a) DA Boch Bdorren e3c;°565:3°eao
S0ts0 0K A6\ DS Btors G & 308 TS BIS LS Erosrdoed
608004,
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A thin oil layer floats on water. A ray of light making an angle of incidence of 45°
shines on oil layer. The angle of refraction of light ray in water is

(ﬂoﬂ: 1:54; Hvater = 133)
S DD A 6 A &0BIV0 A Buda) B, wS 08 $6e0 457 VBY
Sta08 AR B8 6 P57R0t80esoR) B, w0 IS’ & 508 360 539D Seao

(M =1. 54, pg, =1.33)
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The resultant amplitude of superposition of two waves y; = a cos ot and

Y, =4 Cos (Ot+) 1S

Y1 =a C0S Of 08030 Y2 =a c0s (Ot+() 9 Gocd Sorfadnen 9.9(;5"786633‘388&»
03¢0 DR et DI LoD DO
Options:

2 5 (
% Za cos ot



5y Acos (Ot+¢)
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The magnitude of electric field intensity ‘E’ is such that, an electron placed in it
would experience an electrical force equal to its weight. Then the value of ‘E’ is

(e - charge of electron. g - acceleration due to gravity)
E DS £ S99 o DS E808” 8 Jugd D 6ol T i 1

R QOO0 TP 2TT°AS D0 900D ‘E’ dend
(e - TR Z)cbswé%w. g - o S(dra)
Options:

| » mge



Question Number : 105 Question Id : 5500532505 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

A particle of charge q 15 shot with speed V" towards another fixed particle of charge
Q. It reaches Q upto a closest distance ‘t” and then returns. If q were shot with speed
2V then closest distance of approach of Q 1s

DETFDI0 o w8 oo, V' HAE Jdw 238" &) Q degmdio o
0’8 S0 DY HO\T. &8 S0 Q S wS0d A0 GRG0 T 6 DY
R0 680, q D) 2V HAS DB, Q D 6 wdfod D Erdo.
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Time: 0

Two capacitors of capacities 10 F and 20 uF are connected in series across 200 V

source. The charged capacitors are disconnected from the source and reconnected in
parallel with their positive plates together. The potential difference across each
capacitor is

Saratd 101UF , 20 1F o Boch 3306 0d) 200 V o 28503 356" $dard. &
5530 Sratid O 2% 0d Fofod) B8R T8 BTHIY DVELD TREHLD
Riroddore SDrM. wand PO SPd06 d TEIALS s

Options :

% 200V
400 V

400
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The charge flowing through a resistance ‘R’ varies with time as q = at - bt where
a,b are positive constants. The total heat produced in R 1s

w8 B0 R ot pdarocsy Dojerdo S0 d&gé q=at-bt’ ™ Ardxd) 8.
29 b 00 G dTrose. R S0t Senihy wdo 6107

Options:

a’R
L 6b

a’R
2b
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In the given circuit, the reading of ammeter is

QDS deoasos” e.eﬁ)a&eod.) g, 6&oh
SA

10A |
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A magnetic field of 1T 1s acting on a wire carrying current of 1A so that the wire is
at rest in air. If the mass of the wire 1s 100 g then the length of the wire is

S 1A prand) w8 & S’ Juddd cocortn & ot 1T
WO, 08 §do H Ao B. & Brf ST 100 g o & & Teksd
Options:

| ¥ I m
5 « 0.5m

2Zm
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The radrus of the path of a charged particle of mass ‘m’ and charge ‘q’ moving with
a speed v in a magnetic field B is given by

w008 Edo B 6" M (073 SoBakw ¢ desaferddo o a8 seao v 588
QO8ro TR Srg TRrdo
Options:

mv?

mv
qB?
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If the radius of the earth is 64x10°m and its magnetic dipole moment is
1.3x10” Am’ then the magnetic field at the equator is

EAVN &rsﬁﬁgo 6.4x10°m 80k & 030,08 grdvgo 1.3x10% Am’ eowd
AP B> 56 0O 0 G0

Options:

0.7G
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A changing current in a coil can induce an emf in a nearby coil. This process is
SHflotd’ ArdHduD) DES, 208" Sricoied” emf D BB Hiah
Options:

self-induction

ESNe Y DBSSC0
1. bz



eddy currents

DG DI

mutual induction

. (D] DBSS0
3.9

emf

;’)caa?gw")os 200
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The resistance R, the inductive reactance Xy and the capacitive reactance Xc of a
series LCR circuit connected to an ac source are related by R = 0.6 Xp = 3 X¢. The
impedance the circuit is

8 aC 23503 SUdICY w8 33 LCR Suahod' Aeo R, a8gdq 98¢0 Xy
0B K 98B0 Xc © S| dowodso R = 0.6 Xp =3 Xo. 003008

058 o
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Time: 0

The variation of charge q with time t on a parallel plate capacitor s given by
q=q,cos ot. The displacement current through the capacitor is

w8 DAFodE HOLL 3Fwd P Vo t & Jrd DA B0 =(,cos 0t
BANB. STV oo Fdeo IS pariro
Options:

. Qo sin Ot
1.

9
> 5 (€3]

sin ot

v Qo O sin Mt
3.¢

. — Qo® COs Ot
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The de Broglie wavelength of an electron in the first orbit of hydrogen atom is

8.0

TE a0 DEAPROY) Y, 0EH SL(E'D JoFRy g ¢ Erad S6or3 S

Options:

twice the circumference of the orbit.

| 855 DeFOSLH Botts BEd.
1.

equal to the circumference of the orbit.

v 555 TS LSHL HATDo.
2.9 2

half of the circumference of the orbit.

. 555 a:g.au%"oaes‘s 60.
3.

thrice the circumference of the orbit.

S5( S VSD Hurcd Bhw.
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; : i % o
The speed of an electron m an orbit of hydrogen atom is —— times the speed of

light in vacuum. The kinetic energy of the electron in the orbit is

TE2 DEAraNT w8 SEE'D Jugdy Se, dordy airdgod’ sod HAS

iaw. sggéﬁb JOF g, 132 33
994 F < =

Options:

L1026V

, 13.6eV
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Among the following the possible nuclear reaction is

S08 TS e BOADY Soss 9

Options:

10 - 13

B+ He > "N+ H
. D0T2

1.



2Na + In - Ne + {He




239 239 T
s NP = Pu+e +v
3.V

N+ H—> ZC+e +0
4.%
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In a transistor amplifier used in CE configuration, the phase difference between
input voltage and output voltage is

CE DT &R0 S6g0d D% Sz twbatn Ay SPze dugy ¢rdco
Options :

1. % 0°

2. % 90°

, »180°

Question Number : 119 Question Id : 5500532519 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



n-type semiconductor 1s formed when germanium is doped with

-850 ETPS0 Tocotrsh &3} Dodoa A& ArbE60 BoDIT.
Options:
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boron
AR ORS)

aluminum

e.ow}sﬁbfl)o:bo

imdium
Qo0& 030

Question Number : 120 Question Id : 5500532520 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The intensity of ground waves decreases with the increase of distance travelled 1s
due to

Doiradrdo DA S #r Sdore 898 6 Sd Srbdd
Options:

interference

bs@édeao
1. *®



diffraction

, DdGd0

polarization
L &30

dispersion
L DEDE0
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Question Number : 121 Question Id : 5500532521 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Which of the following contains 10 electrons, 11 protons and 12 neutrons?
308 A" BAAO 10 JoFS ev, 11 Jerd en 8ok 12 Argerd e

GotToN?

Options:

Dok
1.9 Ha

23
Na

7

““Na

*Ne*

Question Number : 122 Question Id : 5500532522 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

The wave number of a photon is 10* em™. What is its energy in I?
(h=6.6%<10"Js:c=3x 10" cm s'l)

ws Derd 8o 202 10* cm™. = 33 ] 08" doh?
(h=6.6x10*Js:c=3 X 10" em s'l)

Options:

v 3x10" xh






. 3x10xh
3x10" xh

. 3x10™ xh

Question Number : 123 Question Id : 5500532523 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

The element with atomic number 118 will be
DBATPeD ‘:008_05 118 e Sorerso
Options :

Alkali element
| ® ®6 urwso

Lanthanide
, TPoBIE

Noble gas

3 ¥ BE TPA3VQY

Transition element
L% DBD6D Lurwso



Question Number : 124 Question Id : 5500532524 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Match the following

List—1 List—1I
Atomic Number (Z) (Block)
A. 117 Ls
B. 87 II.d
C. 70 I p
D. 46 Iv.f

308 T8 280 8N0E

2T — 1 2T — 11
(DBSTeeD 500&35) (e°D)
A 117 Is
B. 87 II.d
C.. 70 II. p
D. 46 V. f
Options:

%« A-IILB-LC-ILD-IV
,»A-MLB-LC-IV.D-TI

o =L Be=IN, O Ey=11
3.

o B= T B—I1 C— 1 D=1
4.



Question Number : 125 Question Id : 5500532525 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
: > : + + 0 :
The number of antibonding electrons in N . Oy . Oy~ is respectively

Nf. 0. 0 o e Qog@ ‘{oosozg SR
Options:

6. 5.4

n
N
N

A
N
()

Question Number : 126 Question Id : 5500532526 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The total number of electrons in antibonding molecular orbitals of O; 1s

07 &' wDe0cs i b trd &' Ando VTS © Vo
Options:

w10

2.534



4.¥ 6

Question Number : 127 Question Id : 5500532527 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

Identify the correct statements from the following

(I). According to Charles law, at constant pressure, the volume of a gas 1s
directly proportional to 1ts temperature
(IT). The rate of diffusion of a certain mass of a gas 1s inversely proportional to
its density, at constant pressure and temperature
(IIT). The kinetic energy of a gas 1s directly proportional to T (K)
The correct answer i

$06 TS’ DBAIR ) VR thocsodw.

(D). 53R Aot 6w, 0 DERD0 IE, 08 T HHBITB0
T &l RS drdodod” eotnod.

(IT). D6 >k, &0 I DS SBT3 o TaWLY TR G T

Fogeh % DS Ardoardods’ Gotwod

(II0). 20¢ arasn (8233 o T (K) £ e drdodrdoed’ sotnod.
DBEHA DATGEH0
Options :
[, IIT only

1. i m@;ﬁo
1.¥



o« LILTI

L. IT only

LI arad
3.

I1, I1I only
1L IIT soeggado

4.

Question Number : 128 Question Id : 5500532528 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

At300 K, 1 gofan ideal gas (A) exerted a pressure of 2 atm in a closed container.
When 2 g of another ideal (B) was introduced mto this container at the same
temperature, the pressure changed to 3 atm. The correct relationship between molar
mass of A (My) and B(Mp) 1s

300K 56, w8 20md 38, 1 g 666) Taind (A) Do dédiw 2 atm.
T egﬁga 3¢, & FEEN3 2 g © 08¢ i) o) (B) & 00D
SERD0 3 atin £ 87608, A Arerb G3T3 (Ma) S8k B 3rerd g0
(Mp) & &oc§ 20D dowoddo

Options:

|« 8Ma=Ms

, % Ma=4Mg



SN Haas
3 ® o ¢ et > D)




, v 4Ms=Mg

Question Number : 129 Question Id : 5500532529 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

Match list T with List IT

List I List IT
A. Law of conservation of mass I. Dalton
B. Law of multiple proportions II. Joseph Proust
C. Law of definite proportions III. A. Lavoisier

IV. Gay Lussac
308 TP e DA

e — 1 o — 11
A. 8 Z)ésés QOR0A0 L oo
B. 233 R03rd Qohsdadn IL &0 D
C. Doedred Do 1L A S32096
IV. Gever$

The correct answer 1s

P8R DAEETH0
Options:

VA-ILB-LC-TI

, * A=IV,B-II C-1II



o =T, B—I1 6—1

4 % A-IV,B-1 C-1II

Question Number : 130 Question Id : 5500532530 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

If the standard molar enthalpies of formation of C,H,OH(I) CO,(g) and HyO(l) are

-278, -394 and -286 kJ mol™ respectively, the standard enthalpy of combustion of
the reaction C,HOH(1)+30,(g) - 2C0, (g)+3H,0(1) (in kI mol™) is

C,H.0H (), CO,(g). H,0 (&) pires drerd Do Qow@bw SR -278,

-394, -286 kJ mol™ eaos C,H.0H (¢)+ 0, (=) »2C0, (o) +3H,0 (&) a3
56 rea o)Oijéb (kI mol "o’ )
Options:

3 ® 1646

, v —1368

Question Number : 131 Question Id : 5500532531 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time: 0
Which one of the following options is correct for q = -ve and w = +ve

q=-Ve, W=-+ve @and S08 mz‘l)a?e)e‘f 28 00 A&?
Options:
Isothermal irreversible expansion of an ideal gas with constant external pressure.

i} 206 &P DER0E i) Toho) DAFY mgbma%cm aolg%ﬂ:;o
1. ;

Isothermal irreversible compression of an ideal gas with constant external pressure

N0 i D608 86, TOINY) PAPR WAV, Se3aD oS0
2. ¢ ® a 5 Y

Isothermal reversible expansion of an ideal gas against constant external pressure
L W eriy D608 66, Tk DAY eg&mc%ow a°5§6 %0

Irreversible expansion of an ideal gas into vacuum
| BOS,) Trak) Brdes’s @m@bmc%o:b ST

Question Number : 132 Question Id : 5500532532 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A. B and C are weak acids. Their dissociation constants (K, (A), K, (B). K,(C))

are 3.5x10*, 1x10” and 5x10™ respectively. The pH of 1L of 0.01 M each of
these solutions follow the order

A.B 208050 C o0 90ard saren. T8 Jarad Noose

(K, (A), K. (B), K. (C)) ssoore 3.5x10°, 1x107 ss6as 5x10°°. 98 110,01 M
grarre pH ot §k0w

Options :

, v C>B>A
5 % A>B>C
3 ® B> A > C

4 % C>A>B

Question Number : 133 Question Id : 5500532533 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

500 mL of 0.1M HCI mixed with 500 mL of 0.02M HA(weak acid) solution. To
this solution, 2 g of solid NaOH 1s added. What is the pH of resultant solution?

03:1o

(Given K, of HA is 4x10™. molar mass of NaOH is 40gmol™; log 2 4

=0.6)

8 [

500 mL & 0.1IM HCI & 500 mL 0.02M HA(&)O&J"«% 23:00) TFFRS D, &
gdreds 2 g © 200 NaOH D $Dered. 6\¢ @radeasd) pH ods? (adydd: HA
awg), K, Dewss 4x107"; NaOH cing), arerb g3 40 gmol™; log 2 =0.3;
log4=0.6)



Options:

o5

23@6.7
3g@6.4

4g@4.7

Question Number : 134 Question Id : 5500532534 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Among the following correct statement 1s

S08 T S” DBAD gy
Options:

Saline hydrides react slowly with water

L DTRG0 IBE L0 BT 58] 2R
1. i

All elements of group 14 form electron — precise hydrides

L ogrd LTSV VTR BAYSOT (0 PEE © D6 \WI 00
2.¥ = =

BaCl,. 2H>0 has hydrogen bonded water
) BaCly. 2H)0 37828 208 2000 98 eotnod.






Density of ice 1s more than that of water

2008050 &) K083 Frogheh NEURS

Question Number : 135 Question Id : 5500532535 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

The alloy formed by lithium with metal “X" is used to make armour plates. ‘X’ is
X 00 S'irod dBato D6\6i8 D B 9T Sord Sawd

EOAFATD. X 0008

Options :

Question Number : 136 Question Id : 5500532536 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Identify correctly matched pairs

I. Borax Na;B407.10H>O
II. Kemite Na»B407.7H>O
III. Bauxite AlO3.H>O

IV. Cryolite NazAlFs

DO 268 BODLICR 2otr doLSod
L &8y  NaB407.10H0

I1. 8845 Na»B407.7H,O

Il er3y6  ALO3.HO

IV. 8ca3,5¢ NasAlFs

The correct answer is

28I DAFTD0

Options :

L. IIT only

o LI Srg

I1. IV only

| ILIV 858
2.

I, 11T only

o LTS8

I. IV only

L LIV A
4.



Question Number : 137 Question Id : 5500532537 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The allotrope of carbon which is used as an abrasive for sharpening hard tools is

)6 DAL DEW DADEFS DS (abrasive) EATHocsecd
526\ drarodto (allotrope)
Options :

Graphite

| x TR8

Fullerene

L, YO
2.

Diamond
v G0l

Carbon black

. % SHEASEME

Question Number : 138 Question Id : 5500532538 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

o). Alc. KOH &S Lig. NH;
CH;-CH(Br1,) : » X — > v

In the above reaction the products X and Y may be
2% QBECEH BB, ok 2rjen X 8ok Y ev HERm



Options:
CH,=CH-Br , HC=CH
1.Y

_ « HC=CH . CH,=CH-NH,

S ® CH,=CH-Br , CH,=CH-NH;

CH=CH>» y HC=CH

Question Number : 139 Question Id : 5500532539 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Identify the correctly matched pair from the following

308 ToBS” DO 208 BaLIAD 2oL Hotsod

Options:
2 CC e 120 pm
, 8 C=C  ---oeme- 110 pm
S % C=C -—mmmm- 154 pm
C—C Bond length in Benzene -------- 139 pm

» 302D &° C-C 2006 8o --m-- 139 pm



Question Number : 140 Question Id : 5500532540 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Which of the following is not correct for Frenkel defect?

308 20" 203 85700 L VA DETDIE 5°¢L?

Options:

It doesn’t change the density of the solid
Q6 DDTGo RV, FroBBR0 Ay B

1. %

It 1s also called dislocation point defect

) 8D Doy «g"ébycbb e5°0 9 S 90D
2.

Entropy of the solid increases
LODDTGA0 TR0, Jogs’d DAY

3. %

It 15 due to very small difference in the size of 10ns

y 03D HOATITOS B Trer S O Sotitdo S @8 i)dbciom
4.

Question Number : 141 Question Id : 5500532541 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The number of moles of OH™ ions present in 100 mL of 0.2 M Al(OH); solution is
(assume 100% dissociation)

100 mL © 0.2 M Al(OH); grsdeaoss” OH™ esaird ae © 203

(100% DBrada0 FoERD 8 20dw)



Options :




, »6x10°

, % 8x107

Question Number : 142 Question Id : 5500532542 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Which of the following aqueous solution has highest osmotic pressure?

308 TS Q) 20 THETIS BS(AS GTIVGN DEDO Hotwed?

Options:

(W)
5.85%| JNaCl







Question Number : 143 Question Id : 5500532543 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

AG® (in k] mol™?1) for the cell reaction is
Cu**(aq) + Fe(s) —» Fe?*(aq) + Cu(s)
, =034V E . =-044V and F=96.500Cmol™ |

| Given E - =

Cu®*(aq) + Fe(s) » Fe?*(aq) + Cu(s)
208 6% AGE (k] mol~* &)

[E'. =034V, E . =-044V,F=96500Cmol"]

FeX* /Fe B

Options :

|y 1505

Question Number : 144 Question Id : 5500532544 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The correct value for logyo K. (K. = equilibrium constant) for the equilibrium
reaction at 298 K

2Fe’* + 317 = 2Fe® +15 is (E of the cell is x V)
298 K 56 0:0mr88” &) 569 logyy K £ Hoesodos) 280 ewsd
2Fe’" 4 317 2 2’ 417 (2wbo cws), E devd xV)

Options:

0.059x

3X
4 # 0.059

Question Number : 145 Question Id : 5500532545 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Identify the correct statements about chemisorption

I) It 1s 1rreversible adsorption

IT) Enthalpy of adsorption is in the range of 20-40 kI mol”
I10) It is unilayered adsorption

IV) It does not need appreciable activation energy

S 00D 9EF 0% 023080 DO TJR[RR0 (G0N
I) @8 a6 0&F 0

IT) 085060 Jogdy 056 20-40 KJ mol™

IIT) @8 d% T6 BT a0

IV) 88 eded $3 (abdd M ebdddo S

Options :

IT & III only

| TT 08050 T &g
1.

[ & IV only

. TaoBasw IV srgidd

I & IIT only
. I 08030 IIT &Soeghad

IT &IV only

 « 120605 TV &g

Question Number : 146 Question Id : 5500532546 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time: 0

From the following identify the favorable conditions for physical adsorption
I) Large surface area

IT) Low temperatures

I1T) High temperatures

IV) High pressures

$08 8000 S BT 00 D RowoGod) WRVLPVN DBVBWA Aofocsol.
I) wis &0 dFeo
II) ey ealtidven
o £9
ITT) 88 e’
IV) 0988 Séaren
Options :

L. IIT only

| LTI 20830

III. IV only

| IL IV &g
2.

[ III. TV only

, L II1. IV &orgdao

[LII & IV only

_, LIT 208050 IV &8
4,



Question Number : 147 Question Id : 5500532547 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Which of the following represents the roasting of the ore?

S08 TBS” IO TP BT ATDRE?

Options:

2Cu,S+30, —2Cu,0+80,
ZnCO,; - 7n0 +CO,

. /n10+C - Zn+CO
3.

Cu,S +2Cu,0 —» 6Cu+S80,

Question Number : 148 Question Id : 5500532548 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

PO, — "2 X% 2 Y
The number of P—OH, P = O bonds in Y 1s respectively

PO, —2>X—->Y
Y Qoo s P—OH, P =0 oo {ooa)?Sw Pelobraan

Options:






Question Number : 149 Question Id : 5500532549 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

The nature of CrO3, CrO and Cr,03 is respectively
C103, CrO 18030 €103 © DET°D0 DSV
Options :

acidic, amphoteric, basic

€35, &5:)52,3"35, =0

basic. amphoteric, acidic

6, OLRTD, 38D

acidic, basic, amphoteric

&3, &6, &S{oswé

amphoteric, basic. acidic

&gﬁo&e,rb, =8, 8



Question Number : 150 Question Id : 5500532550 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The chelating ligand used to remove excess of copper in animal systems 18

208 I © S 088 506 & SRt T¢ SG&A Grroé
Options:
Desferrioxime

1. %

D- pencillamine
D- 2200

2.¥
3 % EDTA

8- hydroxy quinoline

8- ey &39S
, o« S ETES &

Question Number : 151 Question Id : 5500532551 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Sodium 1 liquid ammonia initiates the polymerization of which of the following
monomer?

308 O ArSab FI2BL6) ¢ wardabed” Tdabo Fdodiod?
Options:

]Jf;;:\CN



Question Number : 152 Question Id : 5500532552 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

Which of the following represents a-D-fructofuranose?
308 &S D& 0-D-0E PIESE 0 ArD0E?

Options:
HOH, o CH,OH
H,/
H OH
1. OH H
HOH, o. OH
H CH,OH
OH H






HOH,

H CH,OH
OH OH

Question Number : 153 Question Id : 5500532553 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

Which of the following conversions indicate the presence of -CH,OH group in
glucose?

808 Q &58\& (1788 & ~CH0H Hariro &0t 1rdioo?
Options :
Glucose — Gluconic acid

, (r8E > drEDS o
1.

Glucose — n- Hexane

BrSE —> n- SPED
2.% 7 N

Glucose — Saccharic acid

; L 088 — 35785 esvo

Glucose — Glucose penta acetate

, « 0EE > (088 Dot D6

Question Number : 154 Question Id : 5500532554 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Which of the following macromolecules is crucial to communication system in the
body?
S0 D yrao) $6006°D Drerd Wi & S5 SosRNE?
Options:
Receptors
o T
Enzymes
L, 0 eV
2.
Carrier proteins
, T8 FOS e

Lipids

4% DéE e

Question Number : 155 Question Id : 5500532555 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

What is the correct boiling point order of the following haloalkanes?
1) 2-chloro 2-methylpropane ii) 1-Cholobutane 111) 2-Chlorobutane

306 (AN S’ 9T) D © CE), VOV ErANFBID D S A6?

i) 2-88 2- g FoS i) 1- §8 aar(SS ii) 2- §8 ear(S



Options:

w1 1i>ii

o i >iii> i

1<11<1i1
3. %

1>111>11

Question Number : 156 Question Id : 5500532556 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

Which of the following reagents convert 1- Chloropropane to Propane?

Mg/dry ether & then HyO Zo/H Nal Na/ dry ether
I II 11 IV

308 O 5w 1- SETHD & TH ™ drcdron

Mg/ & &6 doard Hy0 Zn/H Nal Na/Jé 856
I II 11| IV

Options:

S LI

) LTI






4 % ILIV

Question Number : 157 Question Id : 5500532557 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

Para-nitro phenol has higher boiling point than ortho-nitrophenol. This is due to

es?f D8 DS %083 FToRE’ D ot NEVEY &Piabeébé «g"bo & 89 eotnod
Options :

The presence of intermolecular hydrogen bonding between Para-nitro phenol
molecules

) 00 U S WY © MY WOSGEVS TS WOGTRL GOt HOY
1.

The presence of mtramolecular hydrogen bonding in Para-nitro phenol molecules

FT A DTS oo W 0S8 PERS worren Godto Sud
2.%

The presence of intermolecular hydrogen bonding between ortho-nitro phenol
molecules

} SO DS R S8] VoL FPERS L0t Gkt H
3.% 6

The absence of intramolecular hydrogen bonding between ortho-nitro phenol
molecules

) vg‘s;)_@e SRS IO ¢ W08 FE RS worren ST deo M
.



Question Number : 158 Question Id : 5500532558 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Which of the following carbonyl compound reacts with HCN at faster rate?

306 2 638 2o, ¥ HON & 008 Srfore w36 Socactood

Options:

v O2N

©/COCHQCH3
3. %
/©/COCH3
4% ON

Question Number : 159 Question Id : 5500532559 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0



In the following reaction sequence A and B respectively are

So& oy gadvo & A ook B e ST

OH
A B
SR
Options:

CH,CHCICH, / AICL, ; O,,H,0"

1.¢¥

CH,CHCICH, / AlCL, ; KMnO, . H”
2. %

Cl, / FeC 13 5O
3.% =

. CH,CH,CH,Cl/AIC], : C1O, —H,SO,
4, B - i -

Question Number : 160 Question Id : 5500532560 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The reaction between ethyl bromide and ethanolic solution of ammonia (excess) is a

BP0 8’06 B DS W) ok (wBgorr) © g e
Options:

Electrophilic substitution

} oS DOS LAFDE
1. =



Electrophilic addition

L Qog’ 298 Hodwrd

Nucleophilic substitution
L v wgéo’irio@é DBEDR

Nucleophilic Addition

" Ao dS Do
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